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Exercise 1.6

Question 1:
Find:

1 1 1
gd) 642 (ii) 325 (iii) 1253
Answer 1:
(i) fi = (82)% — 85 =8
1 1 1
(ii) 325 = (25)5 = 2" = 2
1

1 1
(iii) 1253 = (53)3 =53 =5

Question 2:
Find:

3 2 3 -1
(i) 9 (ii) 325 (iii) 16+ (iv) 1253
€. Answer 2:
3 .
1 2= 2 = 2= =
(i) 9z = (3%)z = 3 32 =9
2 2 i
(ii) 325 = (25)s =255 =22 = 4
3 ER
(iii) 16% = (24)2 = 25 = 23 = 8
1

1 1 1
(V) 12555 = (535 =5"5=5"=-=5

Question 3:

Simplify:
2 1 7 £ 101
(i) 25.25 (i) () (iii) 222 (iv) 72.82
112
€. Answer 3:

2 .1 10+3 13

2 1
(()2:.2s=23"5 =215 =21
7
(ii) (3%) = (373)7 = 3721

eC DU S S U S o B
(ili) T=112x11"+ =112+ =11+ =114
112

1 1 1 1
(iv) 72.82 = (7 x 8)z = 562
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